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OZBE X|B M| E QZatE 1,600,000
UEUHE K2 i O] 4 (A) 300,000
olZatE X2 i O| A1 (B) 400,000
olZate %2 i O] A1 (C) 2,000,000
olZatE X|2 HAH OHHEHE 200,000
olZate X2 X|2ZAL|Ot O{HEMHE 300,000
AZBE X2 29t = (Crestal) 700,000
ASTHE K= AbotE (Lateral) 1,500,000
AZ2UE X2 EE F7HEE/AHE) 600,000
olZatE K& [ 2| X|-20|Al&(FGG) 500,000 AL&otet
olZalE X8 AT R EI0| Al & (CTG) 500,000 AR&Qotet
AZBE K2 Gold 32t B4 200,000 At otet
olZatE K& X|23L|o} BH 100,000 Ar&etet
ASEE K= splint 300,000
olZalE |2 XF7FK| of 200,000
YESTE K= grinding 0
AERE |2 A FEEE X2 7t 0
ol=ZztE X2 membrane 300,000
AZRHE KB cT 40,000
AZZHE X|B = 60,000
AE2UE X2 FGG( 50| 4) 0
A=ZEE X2 stant 300,000
olZatE X2 A=Z2HELHH 600,000
HEH K= =L F2t2 800,000
HA Xz PFM A2tz 550,000
HE K= M2 E X2 600,000
BEHX= X| 23 L|OHTX|F) 600,000
BH Xz X2 L|OHX|F) 550,000
HE X2 QI A| X|OF 100,000
HE K= grinding 0
=4 XK= g2 =4 1,500,000
=L K= HH EU 1,500,000
=L X2 s e 100,000
=L K= =4 MY 300,000
=L X2 YAl EL 300,000
EL K= Wire Temporary 100,000




=4 K= w M| 27| O] E 150,000
EL X = 2l2told 0
=4 XK= 27 0|H 500,000
=4 XK= OVER D.T 2,000,000
=4 K= Of 14| El 500,000
BEEX= 2 TH(CA) 80,000
HEX=E 24| 2l (proximal) 150,000
BEX=E Bl Al 2hEi| &) 212 o 250,000
BEX=® =E 210 350,000
H=XE Diastema 300,000
BEX® 20|40l E 600,000
BHEAXE Xl 2 100,000
BE X2 ZAE 250,000
HE K= M2t2 220 450,000
HE K= M2ta)elz| ol 350,000
HEX= 2| Tl (caries) 100,000
BHE K= inlay->onlay 24 100,000
HE XK= R.core->postH & 150,000
BEAXE AHEXK| 200,000
HE K= =243 7| X| 100,000
BE X2 RF(B) 80,000
H= X &2 RF(palatal) 80,000
BEXZ AT (E U DHESHHM AL) 50,000
H= X2 resin(build-up) 250,000
BEX&E =E28(0] 600,000
HE KB RF(ATHH) 0
20F K| = 20t 2| T 100,000
20 X|= SS Crown 150,000
20t X = Band(Crown) & Loop 150,000
20F X| & X|of =027 40,000
A0t X2 EALEXR 30,000
mEsIbNE= my T 100,000
MESIPNE=S S R SON TS| 5,500,000
w3y K= X7tAE 2etal 400,000
uHl Xz E2 uH¥(1/44e) 1,000,000
MESIPNE=S Retainer(2t ) 200,000




MESIPNE-=S GRS RSN 1,500,000
MESEPNE-= H 2 X 07 0
wd K= splint 0
MESIPN- 7| Et 0
mbsIPNE= fixed 300,000
MESIPNE-=S C-2|H| 0| 300,000
MESIPNE- M g Xz =7t 0
MESIPNE=S M 78 Xz =7t 0
¥ Xz fixed/resin/re-pair 50,000
MESIPNE=3 mESE=oN 50,000
oy X2 TCPEZE(43]) 100,000
7|Et X| & O| 0| X 1,000,000
7|Et X|= RF+build-upZt&-4 300,000
7|Et X| = K| M | A 60,000
7|Et X|= ZHd XX 2 A 50,000
7|Ef X|= inject 350,000
7|Ef X|= inject-FF7FZI & A| 150,000 ALgQotst
7|Et X| &2 MTA 300,000
7|Et X| & line 300,000
7|Et X| &2 stantX| & 300,000
7|Ef X|= &2 H & K| re-pair 30,000
7|Et X| &2 SR EEK| 1,000,000
7|Et X|= plateX| A (H| & &) 0
7|Et X| & HI SO HEE 30,000
7|Et X|= o 1,200,000
0|8 X = (1hM) HEAGIRRE) 200,000
0|8 X[ =2 (1kM) A EX| OfHH 50,000
0| & X| = (2t Of S8 (Xt 7+ 271 23)) 1,200,000




